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R2 = L1  f(R1 , K2)

R16 = L15  f(R15 , K16)

R0L0

L1 = R0

L2 = R1

L15 = R14

L16 = R15

f

f

f

Plaintext

Ciphertext

IP

IP -1

K2

K1

K16

IP :  Initial Permutation

/��(+������"%�U � � � H��-��H��(�-. �#IR@MGbP
P������E����� � PL��� F D �

� �



���������
	��
�
��� 4 *2, � � .0, ! � *2, � � �����������
�
��� � � �

�/���-��� �4$5���A����7�=�����+��E
#=����p� $3�(+����g] �-
������
��������� ��$&�r�#IR���2����7�=��&�(���1I`���5�����
$&�2������� $)�E
�+���U 
N��.5D

�-H��-�2B �����4$

�=�=�����
���� 
:�g�(��.�$ ��$&�-�E$ ��� ���2����7L=�����
��E
\�-������7�=����2�V'L7j��$&�-��$r�#I������o>-$3�(��+��(�2Wj@MG/P


:�(+����)�*����" ��'�7o"_
$���(��+�� � 4 � � �(�0����� 
#'���H��A�2h���
��&�(��� �EB<�����-���-'L7V=����2$&�-��H��(��+V�����A��ZL�4$&�)�*��+

�(�LH��2$&��"��-���/�(� @MGbP_$&��I`�l.5
����T
����c�2h����(=�"��-���2U

 3�C�4$���Z =e�2�����2� ����
�� $#D�@MG/P�.b���g� $&����� '��2����"��/
 � � �A�����6� �5$&�E
�����
����NIf��� $&�2�����-��D ���-7M�-������7L=��&�(���CU
 ��N��
�$5
:�(���2
���7c'��-�-�j
�����=����2�dI`���5��$)�9�*�1���������-7c"_
���
�+��-"��-�L�5$&��
�����
��E��$R�g�����
OT8 P � F U � Ar
����
I`����Q<�)�*H�
���7AG<����
������2�jSj
:�g� �lQ�GKS � � U

( � � � � � ( ��
����
 3�L���-����
��&�(����
:�r@M
��E
,G<������7�=��&�(���?ON�(+����&�(����" �� l@MGRO ��.5
�$d���-H����(��=��2� 'L7 �9���&k3�p
 (�
:�!
����

*�
�"d�2$�Sj
�$�$)�-7A��I�������P�.b�p$�$�/��2���-�E
:�< ���$)�&�(�������
��IJ���2���������(��+�7A�(� ��FHF ��U/ 3�5�4$9�����
��IJ
d����"!'e�-�
��I5�����LH��-�L�&�(����
 �J
:�(+����&�(����"_$9=�����=��L$)�2�A�(�V���2���-���M7��2
��E$N���A���-=��4
����_@MGbP�UF ��M��$&�2$ 
 � %���D`'��(�����-7
�����-������7L=�����
#�E
 �(� '��(��� ��$5�#I D '�'��(�E$-U

�b��� ���2$3�(+�� =����g�(�L$&��=��L7 'e�-���*��� �����A
:�(+����)�*����" �4$
�����A��IY>�"
�gZ��(��+o��=��-��
��&�(����$ If����" �������-�

��� �C�-���-�L�9
:�(+��-'��E
:�4�M+�������=�$�W � PL��� FHD ��U  l@MG<O ��$&�2$N�������-�M��=e�-�E
��&�(����$ B

� G Z����*��$l�*H��-D � � � � � � �

� OT�����(�&�(���1"�� �����(� % �
� B 
����

� S ���(�&�(=��g�4�-
��&�(���j"��������(� %������ � U

�b���r l@MGRO 
:�(+����&�(����" ������$3�4$&�E$N��I/���*+��L�9����������$-BeI`���g�(��.J�2�1'�7 
d]���
:�<���E
���$3I`����"c
��&�(���cI`������D

�&�(���CUcG�
����j���������j"_
3���2$9��$&����I5$3�gZ ��D D`'��(�!$&��'�D ���-7 $-B .5���-���2
�$9�����
]���
:�����E
���$3I`����"_
#�&�(���j��$&�2$
I`�����r$&��'�D ���-7�$-BFI`���r
\�����E
:�<��IK]�If�&7�D`�l./�A$&��'�D ���-7�$-U��/���2$&�Y]�If�&7�D`�l./�A$&��'�D ���-7�$r
����Y���-�)�*H��2�jI`����"

�����5���&�(+��(��
:� � % ��D`'��(� ���-7�U /����K�-������7L=��)�*���CB�]��E$&�K����� D '�D`'��*�R�(��=����<�4$K'���� ���-� �(�L���MI`����� ��D D`'��*��$)��'�D
'��(� �%��$-U��/���2$&�NI`�����J$&��'�D`'��(��� ��$/'e�2����"��9�����/�(��=����5��� �����/]��E$&�K���������d��IC�����M
:�(+����&�(����" U  3�_�2
����

>
� 4 
 6<Q <A/�� &�� 8 �#) "*!'$-.�4 $4, "A*�. $'& 
0,#$4.65 $:)
5 9 *�) ��"*. $-.;! "%$'& " .;�
, "*, 3;, "A*�."! ��)$#8$-. $-1�� 8 ��.�,�<

�H�



���������FB������KIf�����i$&��'�D`'��(��� ��$/
���� � � �/D`�2�FB�
������2��
���� "
���(�&�(=��g�*�2�c.b�*���!�����b
#���������-��
���� ./�(����$3�gZ
��D D`'��(��$&��'�D ���-7 $-U
 ��-�&./�-�-�
����������$-B������5$&�2��������
#���
�����(�E��$&��'�D`'��(��� ��$�
#���5$&.5
�=�=��2�FU /��(��
:�g�(7�B������
I`������$&��'�D`'��(��� ��$M
����r����"
'��(���2�1./�(���AI`������$)��'�D ���-7 $b�(�o
��A������=����9���E
���$lIf����"_
��&�(���A
���� 
 D '�D`'��(�
���(=����-������Z��M�4$M=���� �������2�FUA@9�2����7�=��&�(���1�4$!$l�*"Y���4
�� ���A�-������7�=��&�(���CB ��Z[���-=�� ����
��M������$&��'�D ���-7 $ 
����

���-H��-��$&�2�A
����A
����r$l���(+����&�(7 ��� �C�-���-�L�:U��/���r���2����7�=��&�(��� $)��'�D ���-7 $N
����9���*�����-�������r
������*�)�*H��r���/"
���(D

�&�(=��g�4�-
��&�(H��M�(��H��-�E$&�2$K��I �������-������7L=��&�(���A$&��'�D ���-7�$-U � (CS F7� � ���2$����&�('��2$/�����9�-������7�=��&�(��� � ���2����7�=��&�(���
"��2����
����4$&" �*�j���-�E
:�g��U

 &@MG<O �4$ =�
����-�����2� �(�0G<������=e� 
���� �5���(���2� P��E
#���2$-B ��������+��V���1�g�p���-��$)�AI`�-�c�p$ ���2h����(���2�VI`���

������D�����"d"��-�E���4
:�^��$&��U

( � � � � � 	 � � � � ,7��� .��*, � 8-
�� � ����,��
�b���-����
����<�&./�/'�
�$3�4�<�&7�=��2$F��I�$&7�"�"��-���)�p� �&$&�2�����-��D ���-7 � 
:�(+����&�(����"_$-�F'��(��� �r���(=����-�E$ 
����r$)�����2
�"

���(=����-�E$-U�� 	 �6� � �;� �#( �6	4�M��=e�-�E
����c���o'��(��� ��$ ��I5=��p
 �*������Z���
����6���(=����-������Z � ����$&��
 ���(7 D ' '��(�E$ '����
$&��"d�-�&�("��2$ �(����+��-� �EU<P��(�����9"��L$&�<"��2$�$�
�+��2$<��� ���������(H��4���M���*�2
#���*7Y�*����� D '�D`'��(� �����<'��(+�+��-� �^'��(� �%��$-B
�����K�4
�$&�<'��(��� � ��
�$ ���9'�� ������� ����B�$&�����
����
��<�����/������
:���(�-��+����
��IF�����/"��2$�$�
�+���'��2����"��2$�
N"
���*�)�*=��(�
��I������ '��(� �%�LD�$l�,2-��U  <�(��� � ���(=����-�E$ 
���� +��-���-�E
:�g�(7 ��$&�2�1���d�-������7L=��_> $&�E
��&�4�-W
�-���&�(�&�(�2$N�g����� ]��*�2$ BF���

��
��E
Y�(�o"��2$�$�
�+��-D`���&�(�-�����2�o����"d"!�����4�-
��)�*��� =��������������4$ � � � � ���iQR;TS "��2$�$�
#+��2$ �EU,���
	 ����� �;� �#( �6	4�
��=e�-�E
����
���j$&�����2
�"c$5��I�=��4
:�(������Z��!
����j���(=����-������Z��M�����
'��(�M���M'L7����

��T
c�)�*"d� ��� � � ���C�-������7L=��)�*���
��I5
������(���-�
$&�2$�$3�(��� �EU n0�(���o
c'��(��� �o���(=����-�2BC�����Y$�
�"��
=��4
:�(�L����Z��r'��(��� �1./�g�g�b
:�(.5
:7 $N�-������7�=��r���

������$�
�"d�Y���(=����-������Z � '��*���%� BF��$3�(��+1������$�
�"�� ���-7�UMn �(���o
A$&�����2
�" ���(=����-�2B������_$�
#"��r=��4
:�(������Z �

'��(�����J'�7����M./�g�g�i�-������7�=��9����
���� � �-���-�L�9'��(�5���5'�7L���M�2
����A�)�*"d�M�(�/�4$5�-������7L=����2�FU

O ����7L=�����+��E
�=����4� � �;� �
��$&��
:�g�(70����"
'��*���2$Y�����_'�
�$3�4� ���(=����-�2B/$&��"��A$&����� ��I5I`�-�2��'�
��%� B/
����

$&��"d�T$3�("�=��(�M��=e�-�E
��&�(����$ U /  &Q/P�D � � � � P �����F$&=��2���g]��2$bIf������"������2$K��I^��=e�-�E
��&�(����$K���
��� H��-�J
:�g�C�����
=���$�$3�('��(�Y
#=�=����4�-
��)�*����$9��Ii�-������7L=��&�(���\If���5.5���4���j@MG/PA�-
��A'�� ��$&�2�FU 
N��./�-H��-�2B������2$&�A>���=��-��
��&�(���

"������2$�W��-
�� 
#=�=��*7A���_
���7 $&�2�����-��D ���-7A
:�(+����&�(����" U

� 6 ,7��������
�� � �"����,��*�-� >
	 � ����
 � ��� ,
 3�_�����p$b"�� ����B��2
����c'��*���%�_��IC=��4
:�(������Z �b�p$b�-������7L=����2�
�(������
r'��(��� �c��I^���(=����-������Z��2UK ��K�4$J�-
 ���(�2�

� %



� ���(�2�����������p� ��� ���-'e�L� � -e'��2�-
���$)��B�I`����
 +��(H��-� ���-7�B������-��� �4$5

�����4h��������(=����-������Z��NIf���N�-H��-��7 D '�D`'��(�
'��(� �%����IC=��4
:�(������Z �:U��/���4$K"_
$���2$i�*�/�����-�����-�&�4�-
:�g�(7_=e�L$�$3�('��(�M���!����"�=��g�*�M

��� ���9'���� �
��IC=��4
:�(�L����Z �E$


����o���������2$&=e�������(��+ ���(=����-������Z �E$ U /����r
A"��2$�$�
�+�� �(����+��-�r����
�� D '�D`'��(�E$ BC�����
"��2$�$�
�+��
�4$M'���� ���-�
�(�L��� D '�D`'��(�5'��(��� ��$-Be=�
������(��+_����� �4
�$&�5'��(��� �c�gI<���2���2$�$�
���7�U

P��(�����M�2
����A=��4
:�(�L����Z �5'��(��� �d�4$/�-������7�=����2�A$&�-=�
���
������(7�B������MG/�  "������9�p$J�p���2
 �CIf���T>��E
#������"�D


��-���2$�$�W1]��(� ��=e�-�E
��&�(����$-U G<������7�=��&�(��� � ���2����7�=��&�(��� ��� ��� �C�-���-����'��(� �%� $c�-
�� 'e� �-
����)�*�2�V�����
�(�

=�
��E
 ���(����BL$l�*�����K�����-���/
����<�������-=e�-�����-�����*�2$K'e�-�l./�-�-�
�����C�-���-���C'��(��� ��$C�#I �����K=��4
:�(�L����Z�� � ���(=����-������Z �2U

 R�(���-��������$M�(� ����� ���(=����-������Z �2BK.5���-�0���2����7�=����2�FBK./�g�g�T�-
���$&�A�����A�-���&�(���A=��4
:�(������Z �d'��*���%�6���j'e�

���2����7�=����2� �*�����������2���&�(7�B<'���� ./�g���5�����

 �C�2���r�����d���-"_
:�(�����-�
��I5�����c=��p
 �*������Z��2U 
5��./�-H��-�2B �gI������

$�
�"d��=��4
:�(������Z �9'��(� �%�A
�=�=��2
���$/"������9����
��c�������9�(�A�����M"��2$�$�
�+���B������r���������2$&=��������*��+c���*=����-������Z �

+��-���-�E
#���2�c'L7A�-������7L=��&�(���\�4$�
:�(.5
:7 $b�����r$�
�"���U/�/���4$N"_
$���2$K�����
G/�  "������r��I<�-������7�=��&�(���A�(�2$�$

$&�2�������YIf���M���(+����(76$)���������������2�\�(����+1"��2$�$�
�+��2$-BC$3�(�������(� "_
:7 '��d=��L$�$l�*'��(�dIf���r
A����7L=���
���
:�(7 $)�r���

��Z�=��*�#�*�9�����2$&� ���-+����4
��&�(�&�(�2$-U

� � � � ,7��� 6 ����>�� � 8�� 
�� 
 
 	�� � ��
 � ��� ,

��( ��� � � ���r
�����$M
dIf�-�2��'�
��%� "d�2����
����4$&" ���A
�'��(��� �o���(=����-�2U
�/���
���2$&���(�E$M�#I������
�-������7L=��)�*���

��IC�����5=����-H��(����$K'��(� �%��$J
#���/I`�2�
�(�����r�����N�-������7L=��)�*���A��I �����M���������-����'��(��� �FB������-���-'�7
"_
$���*��+
�2
����

���(=����-������Z��r'��(��� �j���-=��-�����-���r���o
:�g������� =����-H��(����$ =��4
:�(�L����Z��M'��(� �%��$9�(�o
������(�&�(���o���c���������������-���

=��4
:�(�L����Z �9'��(� �%� U

 3�V�  N� "�������BF�����
=��4
:�(�L����Z �9�4$ � � �/D`�2� ./�(���j�����
=����-H��(����$M���(=����-������Z �M'��(��� �j'���I`����� �(�N�p$
�-������7�=����2�FU�ONI`���-�r
A=��4
:�(������Z � '��(� �%� �13 ���/�4$ �-������7L=����2�FB^�����!���2$&���(�&�(��+ ���(=����-������Z � �4$r$&�������2�\�(�

 I`�-�2��'�
��%�A���-+��4$&���-�5����'�� ��$&�2�j
�$5
��c�(��=����NIf���N�-������7L=��)�*��+A�����M����Z �9=��4
:�(�L����Z��9'��*���%� U /[���5���-D

����7�=��&�(���CBL
M���(=����-������Z �/'��(� �%� ��� � �F�p$K���2����7�=����2�
������"c
:�g�*7�
����d
:�4$&�r$�
:H��2� �(�_
9I`�-�2��'�
��%�r���-+��4$&���-�2U

ONIf���-� �����
����Z � '��(� �%�j�4$
���2����7L=����2�FBC�(� �p$ � � �/D`�2�,./�(���o�����d���2$&���(�E$ ��IJ�����
If�-�2��'�
�� �j���-+��4$&���-�2U
�/���4$N��=��-�E
#�&�(��� �-
�� 'e�M"_
������-"c
��&�4�-
:�g�(7A���-=����2$&�-�����2� 
�$KIf�#���(��.�$-�

* � ��	������ ��� � ����� 4 *-, �13 ������� � � �

. ����		�����
�
� � � 3 � 4�� � � � � . , ��� � �

� $



���M=������������������/]��E$&�<'��(��� ���#I ���(=����-������Z��2B�
�� � � � �
�7� 	%� � ���
� � � � ���6� ��	 '���� (<�4$ � � �/D`�2��.b�*���������
]��E$&�K'��(� �%�_�#I =��4
:�(������Z��2U � �A���2����7L=��)�*���CB������ ��� �4$ � � �/D`�2�c.b�*���_�����N������=����/��IC�����M���2����7L=��)�*���

:�(+����)�*����" ���o���2����H��-�d�����A]��E$)��'��(� �%� ��IM=��p
 �*������Z��2U n �(��� ����� 
������*�)�*���0��Ir����� ��� B �4���-�L�&�4�-
:�

=��4
:�(�L����Z �
"��2$�$�
�+��2$M�-������7L=�� ��� ��� �C�-���-���Y���(=����-������Z �
"��2$�$�
�+��2$-Uc�/��� ��� ���L�2$ ����� ��
:H������A'e�

�����4h����
�������-=���$&�2�����-�6���(�T�-
��A'e�r����
���$&"
�(�����2�d�(�j�����r���(�2
��9./�(��� �����r���*=����-������Z �:U�OM�-�����E���(��+A���

PL���������*�-�:Bi>N.5���g�(�M����� ��� $&�������4�c'��M�����4h����MI`�����2
����A"��2$�$�
�+��9�-������7�=����2�c./�(���c�����r$�
�"������-7�B��(�

�4$5������
�� 
�'�$&�#�*�����M���2h����(���-"d�-�L�EW � PL��� FHD ��U
�b���_�� 5�?"d� ��� �4$M��$&��I`���<I`���M�-������7�=��&�(��+A]��(�2$r
���� �*����+A"��2$�$�
�+��2$-Ur 3�j�����A�  N�?"�������BC


$3�(��+��(�c'��*� �-�������9�(�V���������(=����-������Z��Y
 � �2����$9������'��(� �%�o
����j�����d'��*� ��IJ���������2����H��-���2�j=��4
:�(������Z��2U

�/���M���2����7�=����2�c'��(� �%� ���������2$&=e�������(��+����r������'��(��� �A�������E
:�(���(��+������9�-�������R�p$/����"d=��*�-�����*7A+�
���'��(�2�FU

�/���
����Z��M'��*���%� ��
�$�
 � D`'��(�M�-�������5�(�o�����Y$�
�"��
'��(�M=��L$3�(�&�(���V
�$5�����!�-�������2U P���'�$&�2h����-�L� '��(� �%� $


����M������
 �C�2�����2�c'�7_�����M�-�������2B�$&�A�� 5� �p$ � � 	 � ��	 ���������6	�� ����U

� � � � ,:��� , ,7� � 8���> 	���� ��
 � ��� ,

n �(��� �� 5�?"d� ����B �-������7�=��&�(��� �-
��������r'e�-+��(�6�����&�g�b
1����"�=��(�-����'��(��� �,��Ib��
���
c�4$M���2�����(H��2�FU

�/���4$N�g�("
�(�E$M����� ��$&�
��I5�  N�?"������r�-������7�=��&�(��� � ���2����7L=��&�(��� If���M��
��E
#D�$&�����2
�"c$-U����_���2$&���(H��
�����4$

�4$�$&����B�'��(��� �c���*=����-��$5�-
��c'��9�("�=��(�-"��-�����2�A
�$/$&���gIfD�$)7L��������������2��(��+ $)�����2
�" ���*=����-��$ ! �������4$R�4$J�-
 ���(�2�

�������6� �#(��;	��A� � �����:��� �9"�� ����U
O '��(��� �

:�(+����&�(����" �(�c� /  1"�� ���/��=e�-�E
����2$ ����
5h����-���/�����/$3��2-�/��I������<�(��=����<'��(��� �FU< ����(�&�4
:�g�(7�B

�����/h����-���K�4$F]��g�(�2�
./�(���

��M�(���(�&�4
:�g��22
��&�(���cH��2������� � ��� �EB-
�$ �(�_�� 5�1"�� ����U<�/���/h����-���K�4$��-������7L=����2�


����\�����M�(��I`��D`"��L$&�9���(+�����'��(�E$9��I������r���2$&���(�M
���� � � �/D`�2�1./�(���j�����M]���$&� �#D`'��*� �!����
��E
������-�N��I������
=��4
:�(�L����Z �2BK���1'��2����"��A������]��E$)� �#D`'��*�c����
���
������-�r�#I������A���*=����-������Z �:U6�/���A$�
�"��c���(+�����'��(�E$

����


:�4$&�A"���H��2�1���A�������&�(+�����D`"��L$&�M���(+����M'��(�r=e�L$3�(�&�(����$ ��IJ�����_h����-���c
����o
:�g���������������-�M'��(�E$M"���H��

���(+�����=e�L$3�(�&�(����$N��������� �*��I`�2U5�/��� ���(+��L�b�*��I`��D`"���$&��'��(�E$9
����r���4$��-
#�E���2�FU��/���-�1�����r����Z��5=��4
:�(������Z �

����
��E
������-�N�4$9�-������7�=����2�\�*�j������$�
#"��r"_
#�����-�2UM@9�2����7L=��)�*��� �4$9����� ���-H��-�E$)�!�#I������4$9=���� ���2$�$-U�/����

.#" .�$ �
� &N9 / �
)�.;! 2 )+*�.�"
	 "*. 1��
,+)
�4$
8 ! "*�62;�#)�1 �4$-!#2 :��9)��
,+)
�4$:8 G0"*,3"*� $ 9 3;.6!9, "A*�.
*:9 $�� ����5 . 3 8 G � )�*:9 � )
�#@�"A* 3;�
! "*�;26� )
,
����,<G0"*,
��<


��/2;�<8�*��
,/!#*�8�8�*�.0&*) 3;�
��5 � "
	9� *
9 �4$-!#2�3;.0"*,J9 *�)�� ��O 8�*�5;� "*�<- G�"*,
��<

� '



'������A�-������7�=��&�(��� 
����1���2����7�=��&�(���CB������M'��*���%� 
:�(+����&�(����" �4$N��$&�2�c�(�\�*��$/�-������7�=��&�(��� "�������U

* � ��	������ ��� � ��� � 4 3 � ��* , ��� � � � �

. �
��	������ ��� � � 3 � 4������ *2,
����� � � �

�b��� ��� �(�0� /  "������_$&�������4�,'��������4h���� �3�����������d�(�0�� 5�?"d� ����.N���-��������� ��� $&�������4�j'e�

�����4h����A'����
���L�2$	� ���<��
:H������A'e�	�EUc `I������ ��� �4$ �����r�����4h�����B�
 ����7L=��E
#��
:�(7 $&�
�-
��o���2����H��-� �����

���������2$&=��������(��+c=��4
:�(�L����Z��2U/�/��� ��� "
��$&�5'e�!����
���+��2�c./�(���1�-H��-��7c"��2$�$�
#+���U

 3����D`'��(�
� /  9B 
c$3�(��+��(��'��(�M�-�������5�(�o�����
���(=����-������Z��r./�g�g�J
 �C�2���������Y���2����7L=��&�(���,��I�������������D
���-���r
����\If�#���(��./�(��+ ��� ��� � '��(� �%��$-BC.5���-��� � �4$ �����
'��*���%� $l�,2-��U �#D`'��*�d� /  �p$9+��-���-�E
:�g�(7o�����

"������M��I��������4��� If���N�-������7L=��)�*��+A$&�����2
�"_$K��I�����
���
������-�E$/.N���-�A�2
���� ����
��E
������-�5��
�$/����'��M�����2
����2�

�(�����(H��4����
:�g�47�B 
�$K�(� 
 �g�(���A'��-�&./�-�-� 
Y���-��"
�(��
:�i
#���A

���L$&�2U

� �-��� �-� � , ,7� � 8���> 	 � � � 
 � ��� ,

� ����=�����D If�-�2��'�
�� � � � /  ��"������r�4$9
�"d�-����� �\��I����������(��+ 

'��(��� �j���*=����-�

�$5
c$&7�����������������$
$&�����2
�" ���(=����-����U  ��R�4$�$3�("
�g�4
��/���M�����M��/  o"�������B���Z����-=�������
��<����� �M'��(�E$K��IF�����5=����-H��(����$<������=����
'��(� �%�o
�����"d� H��2�A�(����� �����!�)�*+��L��D`"d�L$&�M=���$3�(�&�(����$ ��IJ�����ch����-����U � �6'e�����j�������-������7�=��&�(��� 
����

���2����7�=��&�(��� $3�4���2$-B<������'��(��� �V
:�(+����&�(����" �p$ ��$&�2� �(�o�(�E$ �-������7�=��&�(���V"�������U P��(�����A�����dI`�-�2��'�
�� �

"��2����
����4$&" �4$ �(�����-=��-�����-�����#I '������_�����5=��4
:�(�L����Z��5
����
�����9���*=����-������Z �5$&�����2
�"_$-B������ � /  "������

�4$/$&��"��-�&�("��2$K����I`�-�����2�d����
�$ � � � �;	�� � 	0� �������
��� � U<�/��� � /  "������ ��� $)�������4�c'��9�����ph����r'����5�����2$

�����5��
:H��M���!'e�!$&�2�����-�2U

 qI � �p$b������'��(��� �A$3��2-�M��IC�����M
:�(+����&�(����"a
����������4$/�����T$&��
����
��.N���p���c�4$R�*�����-=e�-�����-�L�M�#I ���(�����-�

�����M=��4
:�(������Z �9���5�����r���*=����-������Z � �EB���D`'��(� � /  .J��� � $/
�$JIf���g�(��.�$-�

* � ��	��
� � �
� � � � � 4 3 � �	� � �
� � 4 * , ��� � � � �

. �
��	������ ��� � � 3 � 4���������������� 4 *-, ����� � � �

 3� � /  "�� ����Be
!$l�*��+#�*�-D`'��(�M�-�������/�(�A�����r���(=����-������Z��T�-
#��$&�2$5

$3�(��+��(�-D`'��(�M�-�������/�(�A�����M���2��� H�D

�-���2�
=��4
:�(������Z��2U��/���4$<"c
$���2$ � /  ,��$&��If���eIf�������*+#�*�)�,2-�2�c
���
:�(��+ ���E
���$)"
�4$�$3�(����$ �`�g�����9H��4���-� � H����4���	�EB

 " . $ �
)�.;! 2 )+*�. * 3;�3�
,+)
�4$
8 ! "*�;26� )�1 ,
2;� :��9)��
,+)
�4$:8 "*�/1��9.6�#)#$4,
��5 "*.;5;��� ��.;56�9.�,<*:9�,
2;��8 ���
�#$-1��3�
,+)
�4$:8 , 
�! 2 Q �:1 <

� �



.5���-��� �����
� �-�-
�$3�(����
:��$3�(��+��(�-D`'��*� �-�������M�-
��1'��
�����(�-�E
����2�FUMP��(����������� � /  "������!�������(�2$ ��� $&7���D

������������22
��&�(���V'��-�&./�-�-�6�����_$&���gIf�
���-+#�p$)���-�E$r
#�r�������-������7L=��&�(���0
#���o���2����7�=��&�(��� �-���jI`���r���������2���

I`�������&�(�����(��+�B 
 "��2����
����4$&" �������-���2����
����A���������2���5$&7��������������,22
#�&�(���A�(�L$�$N$&�������4�A��Z��4$&�2U<O9��
:�(7 $l�p$

��I � /  "�� ��� � @MQ � $��5��
�$d���-"�����$&����
����2�V����
�� � /  "d� ��� $&�������p� 'e� ��$&�2�V�����(7 .5���-� �����

I`�-�2��'�
�� � $l�,2-� �4$/�����!$�
�"��r
�$K����� '��*���%� $3��2-��U

	�

��
 	 ������� %�� �������! "�����$#���%
&� 

�b��� ���������-=��
��I5=���'��g�4��D ���-70����7�=�����+���
�=��L7j.5
�$T�*��H��-�����2�V'�7on ���*�)]����p� @N� 4_�A
����VSj
����&�(�


N�����("_
#� � @

 A D ��BF
���� �*�����-=e�-�����-�L�)�*7V'�7 �5
:�(=��oS �-�%���(� � S1�-�9A��0��U��/���-7 ���-"d����$&���E
#���2�A����
#��

"��2$�$�
�+��J�-
#�!'e�/�-������7L=����2�r��$l�*��+M����� ���-7r
����
���2����7L=����2�r'�7r
����������-�2U^�/���/�&./� ���-7�$^
#���/�����4
����2�

�(� $&����� 
 .5
:7!����
��J
 ����� .b�*�2��+��M��IC�����!���-7_���L�2$b������"_
3���5�(�/=���$�$3�('��(�r��� ]�+������M�����K�������������-�

���-7�UA�/���4$ =��-��"Y�*��$r���������-7�B ����� � 
�� 	 � � ���-7�B^���A'��c./�4�����*7 ����� .N��� B .5���g�(�A�����_���������2$&=��������*��+
� 	�� � ��� �1���-7,�p$ ����� .N� �����(7 ���6
o$3�(��+��(�j��$&�-�2U Sj
������-"_
#�&�4�-
:�g�*7�B/=���'��g�4�+���-7 ����7�=�����+���
�=��L7 �p$

'�
�$&�2�,���o���E
�=�D��������r�����-D`.5
:71If�������)�*����$-UAO �
	#��� �9� ����	 �����-D`.5
:7AI`�������&�(���V�4$!
1$&=��2���4
:�5�&7�=�����I

�����-D`.5
:7MI`�������&�(���c����
��<�4$R�2
�$&7
���!����"�=������/�(�c���������(���2���&�(��� 
����Y��
��E�
���
����"�=������b�*�c�����5�������-�

���(���2���&�(���j�����(�2$�$9���-���E
:�(� ���E
�= �������K�(��If����"_
��&�(���c�4$��L����.5�CU

�TP�O	�

����j@N� 4c�-D�
5���g�("_
��6
#���r�&./�
.J���g�(D ����� .N� =���'��g�4� ���-7 ����7�=����L$&7�$&���-"_$ U5�/���MI`���g�(� .b�*��+

$&��'�$&�2���)�*����$����2$����)�*'e�2$9�����9I`�������&�(�����(��+A��Ii�����2$&�M�&.J������7�=����L$)7 $&���-"_$-U

( � � � ( � � 3 ) �
�b���r'��2$)���L����.5�1��Z[
�"d=��*�
��IJ
d=���'��g�4�����-7 ����7L=�����$&7 $)���-"a�4$ �9P�O
U �9P�O .b
�$����-H����(��=e�2�o
��

S1 l� �*� ��F A A�'L7 �/����
 �p� �K�(H��2$&�:B^OM���MP���
�"
�(�!
#��� (F�-�VOM�����*"c
�� � �9P�O"A ����U_�b����=���'��g�p�1
����
=��&�(H 
#��� ���-7�$5
����9If�������&�(����$N��I�
 =�
:�(����I �4
���+��M=��)�*"d�r����"!'e�-�E$-U

���r+��-���-�E
����5�����!���-7�D`=�
:�(�2B��&./�9�p
#��+��5=��&�("��M����"
'��-�E$ ��
 B ��
����%�:BL
����T�����L$&�-�CU<�/���9=������������2B

���/2;�#)
�<)
�#8 $�"*.6� ,
26� � )+*�G�&*�#8 *
9 @��#) "N9 )�"*.61 ,
26� $ 36,
2;��.�, "*! "*, ) *:9 ,
2;�3�$3 G0&("*! :���)�<

 �/2;�3. $
8 � "*� 5;�#) "A@���5 9 )+*�8 ,
2;� "*.�"*, "%$'&%� *
9�,
2;� "*.�@���.�,+*�)
��<
��� �/2;� , 7F* � ) "A8 ����1 � $-.;5��'1�7/20"*!#2 !#*�8 ��*��
� ,
26��8 *�5$3�& 36��1 �
2 * 3�&*5�G ��*
9J)+* 3;1�2�&*) ��� 3 $�& &*�9.61�,
2���,
2 3;�3"N9�*�.6�

!#2 *�*��
��� ,+* 3;�
� $���/�� /7G�"*,�8�*�5�3�& 36��1�,
26�3� ) "A8 ��� �
2 *+30&*5 �4$4! 2 2 $#@��3&*��.;1�,
2 $4�6� )+* ��"A8 $-,
� &*)���� � G�"*,
��<

��D



�+4�� � �4$ ����"�=������2�FU �/���-�?�����j�-������7�=��&�(��� ���-7�B �2BN.5���-��� �A
���� � � � � � � � �+� � � � ��
����
�����4
��&�(H����(7 =��&�("���BK�4$d�E
�������"Y�*7 �����L$&�-�CU  3�0�����1����Z ��=���
�$&��BJGR�����g�p� - $A
:�(+����&�(����" I`��� ��	 ����� �0� �
����� � � ����� �6��� ��	 ��+L�-� �J�-
:�4�����4
��&�(���1�4$N��$&�2�c���_����"d=������M�����!���2����7L=��&�(��� ���-7�B/��Be$&�����A����
��

� ��� 4 � � � � � � � � � � � ��� � � � �
�b��
��K�p$ B

� 4 �
� � � � � � � � � � � � ��� � � � �

�/���5����"
'��-�E$ ��
#��� �r
#���5�����5=���'��g�4�����-7��������N�L��"
'��-�8�b�p$R�����9=��&�(H 
��������-7�U � ���������������-7�D`=�
:�(�
�4$�����"�=������2�FB������M�&./�
=��&�("��2$-B � 
���� �9
����M���
�(����+��-�9���-�2���2�FU

���5�-������7�=���
N"��2$�$�
�+�� �!B:�(���4$�]��E$&�^���(H��p���2�Y�(�L��������"��-�&�4�-
:��'��(� �%� $<$)����� ����
�� �2
���� �L��"d�-�&�4�-
:�

'��(� �%�c��
�$/
M�����4h���� ���-=����2$&�-���E
��)�*���_"��������(� ��U<�/���M�-������7�=����2�d"��2$�$�
�+���B �:B�./�g���C'e�M"_
����9��=_��I
$3�("
�g�4
��&�(7 $l�,2-�2�\"��2$�$�
#+��M'��(� �%� $ B � ��B[��IR
#'������5�����r$�
�"��9�(�-��+����CU/�/���M�-������7�=��&�(���\If����"!���4
 �4$ �

����4 ���	�
��� �6� � �

���_���2����7�=���

"��2$�$�
�+���B��2
����A�-������7�=����2�A'��(��� � � ���4$5��
$���-�A
���� � ���4$�����"d=������2�F�

� � 4 � ��
 ��� �;� ���

�TP�O +��-�E$N�(�E$r$&�2�����)�*�&7\If����" �����_��� 4 �����(�&7o��I�I�
��������&�(��+c�p
#��+��
�L��"
'e�-�E$ �4� U �/�2����H��-�)�*��+1�����

=��4
:�(�L����Z �RIf����" �����5��IF���������-7 $K
����
�����5���(=����-������Z��K�4$ ��� �
� ���6�

�	 �������M'��5�2h����(H 
:�(�-���J���9Iq
��������&�(��+
�����M=������������9��Ii�����M�l./�
=��&�("�� �L��"
'��-��$-U

�TP�O �4$_
#'������ � � ���j�&�("��2$c$3�(��.J�-�c����
��?@MGbPo�(� ��
��E��.5
���� 
���� �(�?$&��I`�&.b
#���c�(���4$A
�'e�����

� ���c�)�*"d�2$r$3�(��./�-�2U_�/��� �9P�Om
:�(+����)�*����" �p$ =�
����-�L���2� �*�,����� �N���*���2� P��E
#���2$-BC'���� �����M�(�o�������-�

�����������&�(�2$-U��b����� UgP�U�=�
����-���5./�g�g�i��Z�=��(���M�(�oP��-=����-"!'e�-� % ������U

( � � � ( � ( 
 ��� ,���� ,76 6 �08-

�b��� @N� 4_�-D�
N�����("_
#� �l@

 � ���-7 ��Z[����
���+��j.5
�$d�����1]��E$&�c=���'��g�p$)���2�?=���'��g�4��D ���-7 
:�(+����&�(����"

� @

 A D �JU5�b���!@

 ���-7A��Z�����
#��+��r=�����H��4���2$M

"��2����
����4$&" 'L7A.N���p���j�&.J�d=�
����&�(�2$9�-
�� ���-+����&�4
����

�
� � 3 )+)
��.�, &*) 1�&%$:)
1�� . 3 8 G �#)
� "*.���3 G�&("*! :���) !#)
)��6,+*�1�)#$4�62�)
)
� 9�� )3,+* "*.�,
��1��#)
� 7 2�"*!#2�$:)
�	�0/ ��G0"*,
� *�)3&A*�.;1�� ) "*.
� "
	���<

� A




c$&�2�����-�r$&�2$�$l�*���'���-7�B�./�(���������9If�2
��9��I��2
:H��2$�������=�=��-�E$ U��/���4$r$)7 $&���-"m+��-��$/�(�E$9$&�2�����&�(�&7AI`����" �����

��� 4 �����(�&7o��I��-
:�4�����4
��&�(��+6���4$������-���d�(��+L
��)�*����"_$9�(�6
 ]����*����]����4�FB�
�$ ����"�=�
����2�j./�(���o�����d�2
�$&����I

�-
:�4�����4
��&�(��+A��Z�=������-���&�4
��&�(���\�*�1�����r$�
�"d�9]����p�FU

 3� ����� @

 ���-76��Z�����
���+���BK�����-��� 
����c�&./� =���'��g�4���(7 ������.5� �L��"
'e�-�E$-� 
1=��&�("��1�L��"
'��-� �


����o
#�j�(�L���-+��-� � �&�-
:�g�*�2�,����� � ��� �;	#��� ��	 �5����
��9�4$

c=��&�("
�(�&�(H��c���L����� � �#I �:U��/./�A��$&�-�E$��C
������

��� 
1@

 ���-7j��Z[����
���+��_
�$9I`���g�*��.�$ U �9$&�-��� $&���(�2���E$

c�E
#������" �(�����-+��-�����	� � 
����o����"d=������2$


��04 ����
 � � � ��U P��("
�g�p
#�&�(7�B5��$&�-��� �(�����-=��-�����-���&�(7 $)���*�2����$_
1�E
�������"%����"
'��-������� ��B/
����

����"�=������2$�
���4 � ��� � � � ��UoG�
���� $3�4��� ���-�-=�$
����� �aH 
 �*���1=��&�(H 
���� 
����o"c
$���2$ �������mH�
:�(���


:H 
:�g�4
�'��(�r=���'��g�4���(7j���
�����M�������-�5$3�4����U/85��. ��$&�-���L����"d=������2$/���������-7A
�$�� 4 ��
�� � ��
 � � � ��
����

��$&�-���M����"�=������2$9����� ���-7o
�$ � 4 ��
���� ��� � � � ��U  K7 �����d�����(�2$r�#IJ"��������4
��!
��)�*����"��-�&�4��B �����2$&�

�&./�r�-
:�4�����p
#�&�(����$K=���� �������N�4���-�L�)�p�-
 � ���2$&���(�E$ ��� � � � ��
���� � � � � �EU^�b���p$M>-$)��
����2��W����-7Y�-
#��'��5��$)�2�

I`���5�-������7�=��&�(��+_"d�2$�$�
�+��2$K'e�-�l./�-�-�1�����M�&.J�
=�
����&�(�2$/��$3�(��+ �����LH��-���&�(����
:�<$&�2�����-� ���-7c�-������7�=��&�(���CU

�b���r@N� 4c�-D�
5���g�("_
��"���-7_��Z�����
#��+��!
:�(+����&�(����" �4$5=�
#���-�L���2�d�*�j����� �N���(���2�,P��E
����2$ U��/��� � UgP�U

=�
����-���5./�g�g�<��Z =��(��� �*�1O�=��)��� ��FHF ALU

( � � � ( � 	 � . � ��� ��� ��.�� �9� � .��9�9,�� �

O "
�4$����������-=��&�(���o
�'e�����/=���'����4��D ���-7j�-������7�=��&�(���c�4$N����
��K�(�5��
�$/"_
����T$&�2�����-� ���-7c�-������7L=��)�*���

��'�$&�#�*�-����U< ��/$&�������4�c'��9�������2�
����
��J$&�2�����-� ���-7_����7L=�����$&7 $)���-"_$<
����9"
�����YIq
�$)���-������
#�_
���7�������.5�

=���'��g�4�����-7_����7L=�����$&7 $)���-" .5���-�c�-������7�=��&�(��+
�4
���+��9'������(�2$5�#I =��4
:�(������Z��2U<OM�-�����E���(��+���� n ���(�&]����4�

@N� 4_� � @N�gI � � �3B�>-�/���/���2$&���)�p���)�*���!�#I�=���'����4��D ���-7c����7L=�����+��E
�=���7M�������-7M"_
���
#+��-"��-���i
����
$3�(+���
#�������

�=�=��g�4�-
��&�(����$i�p$K
:�("��L$&� �����(H��-�E$�
 ���(7_
��-���-=����2��W�U Ook&�����4���*����$�����"
'��(��
��&�(���
��IF�����/�l./��
#=�=����L
������2$

�4$5�#If���-� 
�����=����2�A���Y
������(�-H�� �����r=e�-�&If����"_
������ ��Ii�����9If����"��-�5./�(���1����� ����ZL�('��g�g�(�l7j��I<����� �p
#�����-�2U
�K7L=��4�-
:�g�(7�B�=���'��g�4��D ���-7 �-������7L=��)�*���r�4$F��$)�2�M���5��Z�����
���+��J
N$&�2�����-�.���-7�U �/���J$)��'�$&�2h����-��� �-������7L=��)�*���

��I���
��E
 ��$3�(��+c�����4$ ���-7d�4$��������M./�(��� 
�$)�2�����-��D ���-7A
:�(+����&�(����"1U

� ! � � ) "A8 "*, "A@���)+*�*�,J*
9 $ � ) "A8 � . 3 8 G �#)�� "*�5*�.;�37/2 *��
�3��*47��#)
� 1���.;�#)#$-,
� $�&(& ,
26� "*.�,
��1��#)
� 9 )+*�8 /3,+*�� /�/�<

� �



	�

��
�� ����� � ������ "�����	����
���
���� �  $����%
&� �


O �����-D`.5
:7r��
�$&��I`�������&�(���CB�� '�� (#B���=e�-�E
����2$R���_
��c
���'��(���E
���7r�(�-��+����_"��2$�$�
�+�� � ���M+��-���-��
����


 ]�Z��2��D �(�-��+����j��
�$&�AH�
:�(����B�(LUR ��5��
�$b�����MI`���g�(� .b�*��+c=�����=e�-���&�(�2$-U

� 	5�(H��-� � B �*�b�p$N�2
�$&7c���_����"�=������,(LU

�  ��/�4$b�*�����-H��-�E$3�('��(��UN	5�(H��-� (�B��(�/�4$5��
����c���_����"�=������ � $&����� ����
#��� '�� (���(LU

�  ��K�4$5�����g�g�p$l�*����D`���2$3�f$&��
��L�:U� 3�/�4$/��
��E�c��� ]����c�&./�r�E
#������" "��2$�$�
�+��2$-B � 
���� ��� B�$&�����A����
��

� � � ��4�� � � � � U

�/���2$&�
=�����=��-���&�(�2$9"_
3���r�����-D`.5
:7A��
�$&�1I`�������&�(����$9��$&��I`����"��2����
����4$&"_$NI`���T
#�������-�L�)�p�-
#�&�(��+A"��2$&D

$�
�+��2$5
����dI`���5�-��$&���&�(��+A��
��E
 �(�L���-+��&�(�&7�U

Sj@
�A
���� P 
NOm
������&./�A./���g�*D ������.5� �����-D`.5
:7 ��
�$)�oI`�������&�(����$-Uj�/���-7o
����c'������o'�
�$&�2�,���

Sj@ ' � �J�*H F %�
 ��U<S @ ' �4$J
 '��(��� ��D�����
 �*���2�1���(+��2$&�5
:�(+����&�(����"1B ����"�=������2�d� H��-�������M��
��E
T�*�A=���
�$&�2$
��I � � %#D`'L7����
'��(� �%� $ U_�/���d]��E$&�M'��(��� �j�4$ =���� ���2$�$&�2�o.b�*���6
��j�(���(�&�4
:��$&�-�2�FB ���2$&���(�&�(��+1�(� 
1���*+��2$&�

����
��<'e�2����"��2$K������$)�-�2�
I`���������5����Z �K'��(� �%� URn ���-�c�����/�4
�$)��'��(� �%�
�4$/����"�=������2�FB#�(�E$/���*+��2$&�<�4$K�����

���(+��2$&� If���9�������-���&�(����$&�����2
�" U
�/���4$M����
:�(���2�V$&�-�2���(��+ =��������*'��(�E$ �����
=�
���
:�g�*���/=��������2$�$3�(��+ ��I/�����

��
��E
 '��(��� ��$-U�Sj@ '�B�.5���g�*� �����/'���� ���-�A7��-�2B���
�$K'��-�-� $&����.5�A��� '��_>�=e�����-���&�4
:�g�(7 WdHL���(���-�E
#'��*� 'L7
 K�L$�$&���4
��-��$5
����  K���-� � �� � F %���B�
����  R�*��
#" �  R�(� F $��3U

( � � � 	 � � � 
 �

�b��� Sj@
� "d�2$�$�
�+�� ���(+��2$&�6
 �*+����&�(����" � �K�(H F %�' � �4$j
�� ��Z����-��$3�(��� ��I_����� Sj@ ' � �K�(H F %�
��
"��2$�$�
�+��-D����(+��2$&��
:�(+����&�(����" U OT�-�����E���(��+r���9�(�E$i�*��H��-�������2B��b����
:�4� �K�(H��2$&�:B >-Sj@
�b�p$K$3�g�(+��L�)�*7�$3�(��./�-�

����
��jSj@ '�B�'����5�4$N"���������� ��� �;	 � ���
� � �/�(� ���2$3�(+��CU9Sj@
�r.5
�$N���2$3�(+����2�1'��2�-
���$&� �(�9.b
�$KIf���(�9����
��
Sj@ 'r.5
�$K=��-����
�=�$/'����(��+_
�����=����2�dI`������$&�M"d�����Mh����4�%���(7c����
�� kl��$&�)��]��2�\'L7d��������Z��4$&�&�(��+A���&�(�&�4�-
:�
���-H��(�-. ��'e�2�-
���$&� Sj@ ' .5
�$ ���2$3�(+����2�V���1'��A��Z����-=��&�(����
:�g�(7VIq
�$)�2BF�(�
�4$ ���8�)( � ���;� �M�(� ���-��"_$M��I

�&�4$ ���(��+ $&���-���2$�$3I`���i����7�=��E
���
:�(7��&�4�

����E
��%�FU�Sj@
�r'�
�� ��$5� � 
d'��*�:B�+��(H��(��+_��=j
 �g�*���&�(�r�(�o$&=e�-�2�AI`���



"
�����A+����2
����-�K�g�������g�(���L���j��I<���(�&�("_
����
$&�2�����&�(�&7 W�U

��F



Sj@
�N=��������2$�$&�2$K�����/�(��=����5��
��E
9��IC
���'��(���E
#��7M�(�-��+���� �`�(�2$�$<����
�� % � � '�7L���2$ �F�(� � � %�D`'��(��'��(� �%��$-B
���(H��4���2�\�(�L���Y$l��Z����-�-� $H%�D`'��(��$&��'�D`'��(��� ��$�
#����=������������2$9
�$K������=����5
 � %��#D`'��*� � ��� �6	 ��	�� � �e���8� ��� �
���;� � ��� � �����C�#IJ����� �(��=�����/��(�E$&�:BF������"��2$�$�
�+��M�4$ =�
������2�o$&�A����
#�5�(�E$N�(�-��+���� �p$ D 'c'��*��$r$&����������I
'����(��+j
�"
���(�&�(=��(����I � � %[U��/���-�CBF
 D '�D`'��(�M���-=����2$&�-���E
��&�(���1��I������
"��2$�$�
�+�� -X$K�(�-��+���� �3'���I`�����
�����


������(�&�(���c��I �����5=�
������(��+
'��*��$ �C�4$�
#=�=��-�����2�d���M�����5���2$)���*�K���M"_
$���5�����/�(�-��+����c
�����Z�
����<"
���*�)�*=��(�

��I � � %�UM�/����"c
:�(� �(����=o��I/������Sj@
�_
:�(+����&�(����" ��
�$NI`�����M����������$ � � BF./�(���,�2
����j��������� ��$l�*��+j

��� �C�-���-�L�K��=��-��
��&�(��� ��D �&�("��2$-U�GK
�������=��-��
��&�(����=e�-�&If����"_$�
 ������D �g�(���2
��KIf�������&�(���c'�
�$&�2�d��� � � �MB
OM8�@
B � � 
�����8 � � ��=��-�E
������E$-U �/���4$<�(����=�+��-��$<��Z��2�������2�
I`����
�$ "c
��L7 � � %�D`'��(�<'��*���%� $/
�$K
����K�(�
�����M"��2$�$�
�+���U��b���r������=����N��Ii�����r
:�(+����&�(����" �4$9
�$&�-�5�#I^I`�����4$H%#D`'��*�N'��*���%� $-Be.5���4��� �������-
����-��
����
���
I`����"a
�$l�*��+#�*� � %���D`'��(� � �0�����;� � ��� � �0� �`U

( � � � 	 � ( ) � �
8N �PL� B 
 �*����+�./�(���c�����r8MP�O
B����2$3�(+����2�A�����rP��2������� 
�
�$&�_ON�(+����&�(����" ��P 
5O � � 8N �P F $��eI`���/��$&�

./�(���1�����r@N�(+��(�E
:��P��(+���
��������
P��E
�����
���� � 85 �P F %���U
(e�����!Sj@
��BeP 
NO?�4$NH��-��7A$3�("
�g�p
#�����cS @ 'eU
P 
NO ./���%� $N���j"��2$�$�
#+��2$9��I<�(�-��+����j�(�2$�$ ����
�� % � � 'L7����2$9
�$N�(��=����!
����1=������������2$r
 ��D ��D`'��(�

"��2$�$�
�+������(+��2$&�2U1/��*��$&�2BC������"��2$�$�
#+�� �p$ =�
������2� ��� "_
3��� �*�

c"
���*�)�*=��(�A��I � � %c'��(�E$ �(����+�U1/����
=�
������(��+�BR�(����$&�2$
�����A$�
�"d�_"��2����
����4$&" �-"d=��*��7��2� 
�$M�(� S @
�[U �/���A"c
:�(�V�*����= ��I9�����jP 
5O


:�(+����)�*����" ��
�$/I`�����M����������$9��I %��d��=��-�E
#�&�(����$9�2
���� � � UM ��9=��������2$�$&�2$ �����
"��2$�$�
�+�� � � %d'��(�E$M
��M

�&�("��

����A�������&�(�L���2$bIf���b
�$/"_
���7 � � %�D`'��(�5'��(� �%��$�
�$N
����N�*�1�����r"d�2$�$�
�+���U

P��(�����
P 
NO?=������������2$/
 ��D ��D`'��(����
�$)�CB��(�K�4$K"������5���2$3�4$&�E
�������� '��������-D I`���E���M
����E
�� ��$ ����
�� � %���D
'��(�r��
�$)� I`�������&�(����$T�������ASj@
��UMO � 
:. .5
�$M
#=�=�
����-���&�(7AI`�������1�(�o���������&�(+��(��
:�J$&=��2���g] �-
��)�*���6��I

P 
NO 
����1
����-./�-�r$&=e�2����] �-
#�&�(���o��
�$N'��-�-�o�����*�2
�$&�2�FUM�/���
���-.J�-�9H��-�E$l�*��� �4$9�����b�*�����-��D`��=��-�E
�'��(�

./�(���1�����M���4���-��H��-�E$3�(���CU

� 2 # ?JR 2 $45 ,
2 )
��� )+*+36.;5;��<
� >�# ? � 2 $4�'9 * 3 ) )+*+36.;5;��*:9J/ � *�� �#)#$-, "A*�.6�3�4$4! 2�<

%��



����� � � � �����!���
� �����
� �

 3�����E���-�K���r+��-��
��-���2$�$K���r$&�-��H��4���2$R�*�A
r���4$&���&�('������2���-��H��*������"��-���2B��-�L�&�(�&�(�2$ ����$&�-��$�
����
����$&�E$ �

$&�������4�
'e�5
�'��(�J���M=�����H�������
#�^�����-7r
#���/.5���������-7 >-���4
:�("_W9���9'�� � � � ��� ��
��������-���&�4�-
����/�����-"_$)���*H��2$-U
�/���r
��������-�L�&�4�-
��)�*��� =��������2$�$/��$&��
 ���(7j������$3�4$&�E$/�#I^�4���-���&�g] �-
��&�(���o
����cH��-�&�g] �-
��)�*��� ��I^�����r�-���&�(�l7 -X$

���4
:�(" � n ( F % �3U���� � � �
� � �����
� � �N�p$ �����J=���� ���2$�$ .N���-���-'L7

��
�-�L�)�*�&7
���p
 �*"c$�
9���-���E
:�(� �4���-�L�&�(�&7�B�.N�����(�
���6	�� � �����
� � �d�4$M�����
=��������2$�$9.5���-���-'�7j����
��M���4
:�(" �4$r�����2� ���2�FU!�/�����-�!.5
:7�$9'L71.5���4���o��$)�-�E$M
����

���L$&��$5�-
��A'��

��������-���&�4�-
����2�A
������

�  �71.5��
��M7���� ��	 �6�F�4���-���&�gIf7��(��+ 
#�j�(�����*H��4����
:�5'L7o$&��"��
��IJ���4$M'��(���(��+#�p�-
 �b����
��E
������-�)�p$)�&�4�-$-B
� � � ��� 

���-�&�(��
:�<$��-
�� ���b
!]���+��-��=��&�(���2U

�  �7A.N��
���7���� ( � ���;�F=���� H��(��+_����� -X$/�4���-���&�(�&7 '�7 =����2$&�-���&�(��+ 
d=��L7�$3�4�-
:�������2���-�L�)�p
 �qB � � � ���^

�����2���(�T�-
����FU

�  �71.5��
��97����
� � � � �F�4���-���&�gIf7��(��+o
��1�*�����(H��4����
:�5'L7j$&��"��-�����(��+1��� �&
����1�����(7 ���	� ������.�$-B
� � � ��� 
 �(��+��(� =�
�$�$&./���E�FU

�/������+�� �2
����j��I������2$)�!���2�������4h����2$M��
:H��r�������*� ./�2
$�L���2$�$&�2$-BF
��������-���&�4�-
��&�(���o=��������2�������2$M�-
��j'e�

$&�����-��+������-���2�A'�7A����"
'��*���(��+c�����-" U

	�
 	�
�� � 
 � ��� 
�& 
 ��� � � �"�� � %
��� � %
&� 

�b���_
��������-���&�4�-
��&�(���o"d�-����� � "��L$&�M./�4�����(7o��$&�2� �*�V���-�&./��� � �-��H��*������"��-���E$M������
:7 ������$l�p$)�E$

��IJ
�$ ���(��+A��$&�-�E$N���c=�����H��r�������*�9�4���-���&�(�&7 '�7 ���-"�����$)���E
��&�(��+1�L����./�(�2��+��
��IJ
c$&�2�����-�9�����-7 �L����.rB

�&7L=��4�-
:�g�(76
c=�
�$�$&./���E�FUdP��*�����c�����
���L$&�/k&��$&�M��
�$ ���c'��_
�'��(�c���A���p$)�&�(��+����4$&� '��-�&./�-�-�oH 
 ���4�V
����

�(�LH�
:�g�4��=�
�$�$&./���E��$-B �(�J$&�������2$C�����-D`.b
:79I`�������&�(����$<�#I������/=�
�$�$&./���E��$ �(��$&���2
��Y��I������/=�
�$�$&./�����9�(�E$&���gI

I`���T>��-����
#�����2��W!$)�2�����&�(�l7�U 
5��./�-H��-�2B�$3�(�����M�����N=�
�$�$&./���E��$K
����5���E
���$&"
�(�����2� �(�_�����9���*�2
#�J��H��-�K�����

���-�&./��� � .N���-�6
c��$&�-�!
#�����-"�=��E$N���c�(��+\�*�,��� 
A���-"d�����
���L$&�2BF�����p$ 
��������-���&�4�-
��&�(���o"d�2����
����4$&"

'��2����"��2$MH����(���-�E
�'��(�����	��� ����� ���
���
�+��� �;� � �JG �^� F '(�3UMO =�
�$�$3�(H���
����E
��%�A�����g�(�2$M���j'e���*��+j
�'��(�����

=�
�$�$l�*H����*7
"������*����� �(��If����"_
��&�(��� � �������0� ��	 � � �C'����(��+!$)�-�L�<'e�-�l./�-�-���������-�<=�
����&�(�2$-U<S1�����-��H��-�:B $&�����

% �



$&7�$&���-"_$N
����M
:�4$&��H����*���-��
�'��(�!�����	�CD �g�*��� ��� �;�
� � � ��	 * ���
�+��� �6���(�1.5���4���1�����r
����E
�� ���-�5
������-"�=��E$K���
+����2$�$ ��������
�$)���2�o=�
�$�$&./���E�1'L7V����"�=�
��&�(��+\�*� ./�(��� 
 ����"�=��g�(�2� ���4���&�(����
���7,��IJ��
�$)���2�6$&���&�(��+L$

����'���
:�(���2�
'L7
��$3�(��+
������$�
�"��5�����-D`.5
:7
��
�$&�
I`�������&�(��� �<���������2$&=e�������(��+����r����"d"������(7
��$&�2��=�
�$�$&D

./���E��$-U

( � ( � � � � � 
 ,�� ��� � , � 8 ��� � �-� � �
 3� 
1�����-D`�)�*"d�A=�
�$�$&./���E�V$&7�$&���-" B �����A��$)�-� -X$
$&�2�����-�
=�
�$�$).J���E�j���-H��-�_�����L$�$&�2$ �����c���-�&.J��� �

�����&�(��+d�*��+��(�CB������-���-'�7_���g�("
�(��
��&�(��+c�����M�&�4$ �c��Ib> ����� ������	 ��� � � ���:W�UKP��*����� �����-D`�&�("��M=�
�$�$&./���E��$/���
�����5+��-�5���-D`��$&�2� If���5
��������-�L�&�4�-
��)�*��+dI`���������r$&�2$�$l�*����$-B������-7 
����M��$&���(�2$�$5���Y
#�A�2
2H��2$�������=�=e�-�2U

P � �MG�� � ! �p$ 
c�����-D`�&�("��c=�
�$�$&./����� $)7 $&���-" .5���4���o��$)�2$r$&�2�������d�����-D`.5
271��
�$&�jI`�������&�(����$ ���

+��-���-�E
#���_
c]����(���A$&�2h����-�����_�#IN$l�*��+#�*�-D`��$)�A=�
�$�$&./���E��$NI`����" 
1$3�(��+��(� $&�2�����-� �L����.5�o�����*7j���1�����

��$&�-�2U<�/���/$&�2�����&�(�&7M��I������4$<$&7�$&���-" �4$ '�
�$)�2�M��� ������=����-"Y�p$)�J����
��C�(���4$<����"�=����E
��)�*����
:�g�*7 �(��If�2
�$l�*'��(�

���
�(��H��-���9�����-D`.5
:7_��
�$)�AI`�������&�(����$-U��b���MI`�������&�(�����(��+ ��I<������P � �MG�� 
��������-���&�4�-
��&�(���o$&7�$&���-" �p$

���4$�����$�$&�2�\�(� ���-��
:�g�C�(�oP��2���&�(��� %�U '�U 'eU
�J�*"d�  J
�$&�2� �J
��E��$ � ���*���(BbP��2������ l@8�
�	�M�	�C�-��
����������-��"��2����
����4$&" ���1�("�=��(�-"��-���_�����-D`�)�*"d�

=�
�$�$).J���E�0$&7�$&���-"c$-U P������ �-
#�E��$c��
:H��o
��0����D`'e�L
��E� ���(��� �FU ��� +L
:�(�?
��-���2$�$c��� 
V=��������2�����2�

���2$&�����E����B<
 ��$)�-�r�&7L=e�2$ ���p$dQ �-�E$&����
:�� &���-�L�)��] �-
#�&�(���085��"
'e�-� �lQ< &8
��BFI`���g�*��./�2�,'L7j�����A���������-���


��-���2$�$A�������o���4$&=��4
27��2� ���0����� �-
#�E�FU �/��� 
��-���2$�$A��� ���1�4$c�����j������=����c��I!
 If�������&�(��� ��Ir�����

���������-���M�&�("���U��/���d���L$&�r�-
��6����"�=������
������=�����=��-�MH 
 �*���c����
��M�����Y�-
#�E�o$&�������4�j'e�_���4$&=��4
:7��(��+


����\�����-����I`�����!�-
#� ���-���-��"Y�*��� .5���-�����-�9���9������
Y�*�-+#�*�)�*"c
����!�-
#�E�c�4$9'����(��+A��$&�2�FU9P������ $)7 $&���-"_$

���2h����(���r�����r���g�(�-���r
����A$&�-��H��-�N���_$&��
����M�����r$�
�"��M�����&�(���A��I<�&�("���U

�K��
:�g�*�-��+��-D �/�2$&=�����$&���-
��E��$5
����r$&"_
����5�-
�����$/����
��5�������E
:�(�A�����5�����*7A"d�-"�����7�B�'�����
:�4$&�d=�����D

���2$�$3�(��+
�-
�=�
�'��g�g�*�)�*�2$ U5�/���-7�
����/�&7L=��4�-
:�g�(7
�(���(�&�4
:�g�,2-�2�\./�(���_
 $&�2�����-� ���-7
.5���4���
�4$<��$&�2�d���M�-������7�=��

����
:�g�*�-��+��2$
���j�����A�-
��E�FU1 ��V���E���-�
��� =���� H�������
��
�����c��$&�-�
��
�$M����� ���������2�����-
��E�FB �����A$&7 $)���-"

$&�-����$9

�E
�������"a�L��"
'e�-�����d�����r�-
��E�1
����A��Z�=��2���E$N�����r�-
����A����
:�(+����)�*����"
�4�-
:�g�*7j����
���$3I`����" �����

�). 
 ; !3��� "*� $ ,+)#$-5;�#8 $
)
:�*:9 O � &(&*!#*�)
��<
� 
 
���!�3 ) "+? "*� $ ,+)#$-5;�#8 $
)
: *
9�
0�9!�3 ) "*, ) ? )�. $:8 "*!9��<

%H%



����"!'e�-�M�(����� 
 	 �0� ��� ��� �9�L��"
'e�-�2U_�/���c��$&�-� ���-7 $N�(�V�����4$M���2$)=�����$&��UA�/���c$&7 $)���-" =e�-�&If����"
�(��+

�����M
��������-���&�4�-
��&�(���A�-
��_���-���-��"
�(���9��I �����T�-
#�E�
��
�$K���������������2��� ���-7�'L7������2� ���(��+
�gI^�����5���2$&=�����$)�

���-7��2��D �(�1"_
��E�����2$/�����M��Z�=��2�����2�1���2$)=�����$&��U

( � ( � � � ( � � � � �9,:� � � � ��� � � 8�������, �
 3�r�����4$ "���������B�����������$&�^�����2$ �����C�����(7!$)���(���*7 ���r�����J�����2���-���&�4
:�4$<$&��=�=��g�(�2�
'L7M��������$&�-�<$&�-�#���*��+


��������-���&�4�-
��&�(���CUdO5�4$&�eBC�����_$)�2�����-� ���-71��I5�����
��$&�-�r���-H��-�!�����L$�$&�2$9���������-�&./��� �FUr 3��$&���2
��FB 'e�����

=�
����)�*�2$9�����*7j���V
c�����(�E�j�-���&�(�l7�BC�-
 ���(�2�V
 �9�-7o@N�p$)���&�('����&�(��� ���-�����-� � �M@ � �EB����AH�������� I`���M�2
����

�������-� -X$K�4���-�L�)�*�&7�UM�/�����M@ �?
��-����"�=��g�4$&���2$M�����p$9'�7 $&��
��)�*��+A
c$&�2�����-�����-7A./�(���1�2
���� �-���&�(�&7 
����

�4$M
�'��(�����cH��-�&�gI`7 ����� �4���-�L�)�*�&7j��I������
�-���&�(�&7 '�
�$&�2�1���j�����4$M$&��
#���2� �L����./�(�2��+�� �&
��������-���&�4�-
��&�(���

��$3�(��+c������$&���2�c�����*����D`=�
����&7 $)7 $&���-"_$5
����r���4$�����$�$&�2�c�(� ���-��
:�g�^�(�oP��2���)�*��� %�UB$ �EU

	�
 	�
 	 
 & 
 ��� 
 & 
 ��� � � �$�  ���%
������%
&� 

�b���_����"
�(��
����MI`����" ��I/���L$&��D`����D`���L$&�r
��������-�L�&�4�-
��)�*���6���j�����d ������-�����-�
������
271�����g�(�2$r���o�����

���-�&./��� �V�(�E$&���gI���� =�����H��p���V
��������-���&�4�-
��&�(��� �(��I`����"_
��)�*���CU 8N�-�&.J��� �0
��������-���&�4�-
��&�(��� ����"��2$d�(�

�&./� � 
:H����E$-B5
��������2$�$&D`'�
�$)�2�?
���� ��
#"��-D`'�
�$&�2�FU /[���c�����1If����"��-�2B5����� $&��������� -X$c lQa
��������2$�$Y�p$

��$&�2�V
�$r
#�6
��������-���&�4�-
������:U �/���4$

�=�=����L
����j�4$ =������������ 
�����
�� ��$9.5���-���c�����_$)�����E���A
��������2$�$T�p$

"������g]��2� '�76����� 
#���E
��%���-� ��� � � �����9�JQ $&�2h����-����� ����"
'��-�c+����2$�$3�(��+6
����E
��%� $ �  K��� � F � ��U689
�"��-D

'�
�$&�2�c
��������-���&�4�-
��&�(���d�4$K�-H��-�_./�2
$���-��$3�(�����9�*�/���2h����(���2$/
M���L$)����� ������$&�K�����5�����9���-�&.J��� � - $ ��
�"��

$&�-��H��4���c�(��If�E
�$&����������������U  K76����������=��)�*��+1�����c��
�"��A$&�-��H��-� - $r��
��E
[B^
�� 
����E
�� ���-�M.b���g�5'��A
�'��(�A���

$&��'�H��-���5��
#"��-D`'�
�$&�2�A
��������-�L�&�4�-
��)�*��� "��2����
����4$&"_$ � �JG �^� F D '���U
�K��7L=�����+��E
�=����4� ���2�������4h����2$ =�����H��p���c
 $&��������+��-�M'�
�$3�4$TIf���M����$&��D`���L$&�r
#�������-�L�)�p�-
#�&�(���CU_�/���-7

�����(7M��� ������=e�L$�$&�2$�$l�*���!�#I[$&��"�� � ���6	 �;�$���-7�URP��*�����b�*���4$C�����CI`�2
�$3�('��(�KIf�����2
���� ���L$&�C���T$&������� ���-7�$FI`���
�-H��-��7d�������-�/���L$&� �i���2h����(�&�(��+ � � � � � ���-7 $ ��BL

����"�"������*7c
�����=����2�A$&�#�*���)�*���c�p$K���
��
:H���
 ������$&���2�
�����(�E��D`=�
����l7�UR ��A
!$)�2�����-��D ���-7c'�
�$&�2�c����7�=�����+��E
#=����p�9$&7�$&���-" B�
 �9�-7A@N�p$)���&�('����&�(���j���-�����-� � �M@ � �

$&��
����2$!
 � ���6	 �;� ���-7,./�(��� �2
����6���L$)�Y
#���6�-
�� 
�����
�$

��,�(�L���-��"��2���4
���7,�*� ����� 
��������-�L�&�4�-
��)�*���

=��������2$�$-U  3�?
V=���'����4��D ���-7 '�
�$&�2� ����7�=�����+��E
#=����p�j$&7�$&���-"1B�
 ���-���&�g] �-
����o@N�4$&���)�*'����)�*��� ���-�����-�

%H$



���J@ � �!��� 
 @N�(���2��������7 P��-��H��4��� � ���*��� � �
U ����� �Y�-
�� �����g�4
�'��(7 ���4$&���)�*'������6�����j���L$)� -X$c
��������-���&�4�

=���'��g�4� ���-7�U �9�-7 ���4$&���&�('����&�(���j"��2����
����4$&"_$9
����r$&����H��-7��2�d�(� ���-�E
 �����*�,P��2���&�(��� %[UB$�U

	�
 	�
�� � � 
�
���� � � � � �$�� ��%���� ��%�&� 

�b.J�d"��2����
#���p$)"_$/I`���M
������*�-H��(��+ 
��������-���&�4�-
��&�(���j��I<"��2$�$�
#+��2$�
#���!S1�2$�$�
#+��MO��������-�L�&�4�-
��)�*���

�������2$5
����1@N�*+#�*��
:��P��(+���
��������2$-U

( � ( � 	 � � � ,����98�
2, �C�-� � ,2
���� ��87������
 �"����,�� 	 � � � � 


O S O �6�4$5
 ���-7�D����-=��-�����-���9"��2����
#���p$)"a'L7c"��2
���$K��I .5���4���1�����r�-
��A
������(�-H��r
#�������-�L�)�p���(�&7

./�(���������/$&�2�����2��7�U �N���g�����r
M��
��E
 �����2�%� $)��" .5���4�����4$/���2$3�(+����2�d���!�-
������
�-�������E$������5��� >������4$&�2WT�(�

�����M����"�"
�����4�-
��&�(���A����
#�������qBe
rS1OM�o�4$/
r����7L=�����+��E
�=����4�9�����2�%� $)��" �(�����-�����2�c��� ���2$3�4$&�KIf����+��-��7�U

�/���4$
"��-����� �,���2h����*���2$
�����A�&./� =�
����)�*�2$ ���o$&��
#��� 
j$&�2�����-��D ���-7�Uj ����-
�� ���(�����-�d'��A'�
�$&�2�,��� 


$&7�"�"��-���)�p�M����7L=�����$&7 $)���-"a���/���1�����-D`.5
27d��
�$&�cI`�������&�(����$-U

�b���Y@MGbP�D&�  N��D�S1OM��BC
�$M����]����2� �(� /  &Q/P�D �H� $ � �MP � ����Be�4$r
��,��Z[
�"d=��*�d��Ib
1S O �?'�
�$&�2�

���_$)7L"�"d�-���&�4������7L=�����$&7 $)���-"_$-U �/��� D '�D`'��(�����2$3�4�����9���2$&���(�&�(��+
I`����" �����M
�=�=��g�4�-
��&�(���A��IC�����9@MG/P�D

�  N� 
:�(+����&�(����" ���M������"��2$�$�
�+�� �4$���$&�2�r
�$ ������"��2$�$�
�+���
��������-�L�&�4�-
��)�*���!��������Ui�b���J@MG/P�D`���2$3�4�����

�4$�$&�-�������M�����5���2�����(H��-�/
:�(����+r./�(���d�����5"��2$�$�
�+���U<�/���5���2���(=��(�-���J�-������7L=��E$R�����5"��2$�$�
�+��/��$3�(��+
�����

$�
�"d�_$&��
����2��D ���-7 
#���o�����2�%��$9�gI����������2$&���(�&�(��+ ���2$3�4����� ���������2$&=�������$M���A�����d�����_���2�����*H��2�jI`����"

�����r$&�-�����-�:U

O �����-D`.5
:7j��
�$&�,If�������)�*���CBJ
:�(����+1./�(��� 
 $)��
����2��D�$&�2�����-� ���-7�B<�-
�� 
:�4$&�j'��A��$)�2�6
�$ 
1"��2$&D

$�
�+��6
��������-���&�4�-
��&�(��� ��������U%�b���p$1"��-����� � �E
$���2$1
���H 
#�L�E
#+��6�#Id
 �����-D`.5
:7 ��
�$&� If�������)�*���.-X$

�����g�g�4$3�(��� � �(�LH��-�E$3�(����D`���2$3�`$&�E
����r=�����=��-���&�(�2$M
����1����"
'��(���2$9�(��.b�*��� ����� ����� .b�*�2��+��!�#IJ
_$&�2�����-�!���-7

���A=������������_
c"��2$�$�
�+���
��������-���&�4�-
��&�(���V��� ����U
O9�o��Z�
�"�=��(����I/�����4$M"��-�������1./�����4�j'�����
$����
��

Sj@
� ��
�$&� �#I^�����!�������-
����-��
��&�(���A�#Ii�����r$)�2�����-� ���-7A
���� ��
#�E
�U

%�'



( � ( � 	 � ( 
 ��
 ���98�6!)�� 
 
 87������, �
O ���(+��(�E
 �J$3�(+���
�������� � 8N �P F %����4$M
�� ���(�2�����������4��
���
:�(��+���� ��IJ
d.5�&�(�����-�o$3�(+���
��������M�(�j����
��9�����

���(+��(�E
:�r$3�(+���
�������� �-
�� '�� ��$)�2�V�(� =�����H��(��+o���V�����A���2���(=��(�-��� ����
��
�����1"��2$�$�
#+��A.5
�$-BR�*� I�
����2B

$3�(+����2�,'L7,���������&�(+��(��
������2UA�/���-76�-
��V
:�4$&� 'e�_��$&�2�,���j���-���2���
����
����������&��2-�2�,"�������] �-
#�&�(����$
���

��
��E
[U^@N�(+��(�E
:� $3�(+���
#�������2$<"c
$���/��$&�/��I =���'��g�4��D ���-7A����7�=�����+��E
#=��L7�U �/���5=��&�(H 
#��� ���-7 ��I �����5$&�-�����-�

�4$ ��$&�2�o���A+��-���-�E
����d�����_$3�(+���
���������U �/���_$l�*+���
��������
�4$ H��-�&�g]��2�,'L7,���������2���(=��(�-�L�d'L7j��$3�(��+j�����

���������2$&=��������(��+c=���'��g�p�����-7_�#I^�����!$)�-�����-�2U

P��(�����c=���'��g�p� ���-7o
:�(+����&�(����"c$r
����d��If���-�o�����c�*��� 4A���*�-�������j$3�(+��j�(����+j"��2$�$�
�+��2$-B 
A�����-D`.5
:7

��
�$&�VI`�������&�(��� �p$d��$&�2� �*� ����� $3�(+���
�������� +��-���-��
��&�(��� =��������2$�$
���,��'��E
:�(�0
o���������-��$)�2�0H��-�E$3�(���

��I/��������
��E
 �l�-
:�g�(�2�6
c"��2$�$�
�+��
���*+��2$&� �EU
�/���
"��2$�$�
#+������*+��2$&�M�4$9�����-�j�(��=���� ���_������=���'��g�p��D ���-7


:�(+����)�*����" ���1+��-���-�E
����
�����A���(+��(�E
:�5$3�(+���
���������UA�/���c���*+#�*��
:�b$3�(+���
#�������
�4$
$&�-���r���A�����d���2���(=��*�-���


:�(����+ ./�(���_������"��2$�$�
�+���U �/�������2���*=��(�-���5+��-���-�E
#���2$�
 ��
�$&�c��IC�����5"��2$�$�
�+��5��$3�(��+
�����M$�
�"��N��
�$&�

I`�������&�(��� 
�$b�����r$&�-�����-�M
����cH��-�&�g]��2$N�����r$3�(+���
��������r��$3�(��+c�����r$&�-�����-� -X$b=���'����4� ���-7�U

�b���!���2���*=��(�-������I/������$3�(+����2�6��
#�E
A�-
��6
:�4$&�A��$)�_
A���(+��(�E
:�b$l�*+���
��������
�(�o=���� H��(��+ ��� 
c�����*���

=�
����&7A����
#��������$3�(+���
#�������
.5
�$/�(�1I�
�����+��-���-�E
����2�1'�7 ������$3�(+���
�������7�UM�/���4$NIf�2
#������� �4$��L����.5�j
�$

� � � �9	 � � 
����7���
� � �eU

����� � �"��� �
� ����� � � ���
��� � ��� �.�����

P��2�����)�*�&7 $&�-��H��p���2$c'�
�$&�2� ���?����7L=�����+��E
�=����4�\"��2����
#���p$)"_$A
�$�$&��"d�'���-7 $d���V'��o���4$&���&�('������2�

=��&�(���M���A$&�2������������"d"!�����4�-
��)�*����$-Ur�/����$&�2�������
"_
#��
�+��-"��-�����#I������2$&� ���-7�$N�p$9�����!�#I������
"��L$&�

���&�(�&�4�-
:�C���(�-"��-���E$K.5���-���(�����-+��E
#�&�(��+Y����7L=�����+��E
�=����4�bIf�������&�(����$R�(�����!

$&7�$&���-" B�$3�(�����T
#�L7_$)�2�����&�(�l7

���������-=��M./�g�g��'�� �(��� �C�2���&�(H�� �gIJ����� ���-7 "_
#��
�+��-"��-���/�4$9./�2
$� U9Sj
��L71���-7�D����4$&���&�('����&�(���6$)7 $&���-"_$


:�4$&��=���� H��4���!
��������-�L�&�4�-
��)�*��� $&�-��H��4���2$-U

% �



	�
 ��
�� � ��� � ����& 


�9�-��'��-���L$ � PL8 P �����/�4$A
V$&�2�����-��D ���-7 '�
�$&�2�0$)7 $&���-" I`����=�����H��4���*��+0
#�������-�L�)�p�-
#�&�(���?
���� ���-7

���4$&���&�('����&�(���V�(� 
1���-�l./���%���2�1�-�LH��(������"��-���2UA 3�!.5
�$9���&�(+��(��
:�g�*7 ���2$3�(+����2� 
��
S1 l� 
�$r
1=�
����M��I

Q<����k&�2���MO5�����-��
�Uc�/����'�
�$3�4�
=��������������<�4$!���-�)�*H��2�jI`����" �����d���&�(+��(��
:�g�(7o=�����=e�L$&�2�,'L7j85�-�2����
�"


���� PL�������L�2���-� � 8MP7A�� � � @ P � � ��UjOT$ ��$&�A�#I��9�-��'��-���L$d$&=����2
��,���j�������-�
�-��H��(������"d�-�L�E$ B�����
#��+��2$
./�-���r���-�2���2� ��� $)��=�=������M���-. =e���g�4���*�2$

����1=�
������-����$N��I���$&� �  /S F � ��UM�C�A
��������2$�$9�����2$&�
���-�2��$-B
���������2$l�*+��_��IC;<�-�E$l�*��� �M��I��9�-��'e�-���L$ ��; � �C'��-+L
��d�(� ��F � F � �M89� F '���U<�/������+�� �9�-��'��-���L$<;<�-�E$l�*���
' ��; ' ��$&�&�g�g�<������$5
��5"c
��L7A$3�(���2$-B[; � � �M8 F $ �F�4$9������$3�4���-���2�\����'�� �����r$&�E
#����
��E� �9�-��'e�-���L$-U

�9�-��'��-���L$<
 ���(��.�$<
9=��������2$�$ �l
9���g�(�-�L� � ���������(��+r���
'e�-��
:�gI �#I 
 � 	�� � �;� � � 	 �l
5��$)�-�����<$&�-��H��4���	�^���
=�����H�� �(�E$ �4���-�L�&�(�&7r����
/H��-�&�g]��-� �&
��!
�=�=��g�4�-
��&�(���c$&�-��H��-� �e./�(���������<$&�-�����(��+r��
��E
5
������L$�$F�����K���-�&.J��� �

����
�� "
�(+����Y
 ���(��.a
�� 
����E
��%���-�M���
H��-�)��]��-�
���j$&��'�$&�2h����-�L�)�*7V�("�=e�-�E$&����
#���_�����_=��&�(�����(=�
:��U6�b���p$

�4$r
��-����"�=��g�p$)���2�V./�(���������r�����*7��(��+j���6
��������-���&�4�-
��&�(���V'�7 ���������L$&�M��=e�-�E
��&�(��+j$&7 $)���-" BC.b�*���������

'�
�$3�(��+M������$&�<���r����$&��
��������2$�$)�2$-B�./�(���������<���2h����(�&�(��+r�����/=���7 $l�p�-
 � $&�2�����&�(�&7r��IC
:�g�������/���L$&�E$����
�����

���-�&./��� �FB�
����1�������-�M�����!
�$�$&��"�=��&�(���1����
��9=�
��%���-�E$N���E
:H����g�(��+ 
:�(����+c�����
���-�&./��� �A�-
�� 'e�!���2
��FB

"������g]��2�A
����
�(��$&�-�����2�A
���.b���g��U��9�-��'��-����$���=��&�(����
:�g�(7_=�����H��4���2$K�(�L���-+��&�(�l7�
����c������] ���-���&�4
:�g�(�l7cI`���

��
��E
d$&�-�L�/'e�-�l./�-�-�1�����r���g�*�-���r
����c�����r$)�-��H��-� � � U

�b���!�9�-��'��-���L$R�*"d=��*�-"d�-�L�E
#�&�(��� ������$3�4$&�E$<�#I �����5����"d�����5
��������-���&�4�-
��&�(���A$&�-��H��-��$<���������(��+
���

=���7 $3�4�-
:�g�(7o$&�2������� ���L$&�E$-U/�/���

��������-���&�4�-
��&�(��� $)�-��H��-�E$/"c
:�(�L�E
 �*�o
���
#�E
�'�
�$&�M�#I�=��&�(�����*=�
 �p$ �`��U ��U(B

��$&�-�E$9
����1$&�-��H��-�E$ �J
����A�������*�M$&�2�����-�����-7�$-U9�������M�g�('��E
��&�(�2$9=�����H��4���!�-������7L=��&�(���o
���� �("�=��(�-"��-�L�

�������9�-��'��-���L$<=�������� ���#�qUR ��c���E���-�����!
�����
#�������-�L�)�p�-
#�&�(���_���M�(�E$K���E
���$�
����&�(����$-B�
M�&7L=��4�-
:�F���-�&.J��� �


�=�=��g�4�-
��&�(��� 
�����$A�-
:�g�4$A���V�����"�9�-��'e�-���L$d�g�('��E
���7�B9.5���4���?���2$&���(�E$d�(�?�����j����
���$&"
�4$�$3�(��� ��I
�����

���2���2$�$�
#��7_"d�2$�$�
�+��2$b���_
������(�-H��r
��������-���&�4�-
��&�(���CU

�b���T
��������-�L�&�4�-
��)�*��� =��������2$�$K=��������-�2��$�
�$RI`���g�(� .9$-�<O ���g�(�-�L�M$&�-����$5
 ���2h����2$&�5���!�����T
��������-��D

�&�4�-
��&�(���j$&�-��H��-� ��O P �J���2h����2$&�)�*��+ �;	 ��� ��� �
�7� 	*�KI`����
d+��(H��-� $&�-��H��-�2U5�/���
O P_���2$&=e������$N./�(���j�����2$&�
�����2���-���&�4
:�4$-B��-������7L=����2�!�*�
�����5���g�(�-�L� -X$ ���-7�U �/���5�����2���-���&�4
:�4$�������$3�4$&�<�#I � � �F
 �
� � � �;�#If���<�����J$&�-��H��-�

� 
 #8$4.�) $-�;�0&("*!'$-, "A*�.;� 3;�
� ! �#)+G �#)+*�� � �L9 3;.;!�, "A*�.�*�.0&*) 3;��*�. ,
2;� "*.�"*, "%$-, "A*�.�*:9 $��
,+)
�4$:8 / G $-�
�95 .6�9, 7�*�)
:3!#*�.;.6�9!�, "A*�.
$-.;5 $-�
� 3 8 �3,
2;� $
G6�
�9.6!�� *:9 $-.�)�� 2�" 2#$-!#:��#)
��� 7/2 *�8 "*1�2�, � 3 G�@��#)
, � 3;!#2 $ !#*�.;.;��!�, "A*�.�<

% D




���� � % �/
����-"d=����E
#��7A�-������7�=��&�(���+���-7 ����I`���-� �-
 ���(�2�o
 � ����� � � � � �$* ��U��/���
�����(�-���r����
���$&"
�(�E$N�����
�&�4�%���-� ��.5���4���6�������E
:�(��$M���������g�(�-�L� -X$ �p���-���&�(�&7o
����o
A����=�7 ��I/�����_$&�2$�$3�(���"���-7�BC
:�g�/�-������7L=����2�1�(�

�����A$&�-��H��-� -X$����-7 ����� �����_$)�-��H��-�2U �b��� $&�2$�$3�(��� ���-7 ������. $&��
#���2�j'�7o�����A�����(�-���_
����V$&�-��H��-� �/�p$

��$&�2�1���A
��������-���&�4�-
����
�����
�����(�-���2B^
#��� "c
27c��=��&�(����
 ���(7j'��
��$&�2�1���A
��������-���&�4�-
����
�����
$&�-��H��-�:U� 3�

"_
:7�
:�4$&�r'e����$)�2����� �-������7�=��<I`���������-�J����"�"
�����p�-
#�&�(���A'��-�&./�-�-�������9�&.J�M=�
#���&�(�2$<���K���r��Z�����
���+��


�$&�-=�
#�E
����r$&��'�D�$)�2$�$3�(��� ���-7_���d'��M��$&�2�\�����-������7�=��/I`���������-������"d"!�����4�-
��)�*���CU

�b�����9�-��'e�-���L$9=�������� ������������$3�4$&��$5��I5$&�-H��-�E
 �i$&��'�D`=�������� �����4$ ��������Z�����
#��+��2$ �EU9�/���-����
���� �l./�

"��-��������$/'�7A.5���4���j
����g�(�-�L�M�-
�� 
�$ �A
��9�-��'e�-���L$9$&�-��H��-�bIf���5�����2���-���&�4
:�4$-U/ 3� �����9]��E$)��
�=�=����L
����CB

�����
�����(�-���r$&�-����$M
����(�2
�������Z �9���2h����2$&�5I`����
d�&�4�%���-�5I`���5�����!���2$3�(���2�j$&�-��H��-�����d�����rO P�U �b���r���-=��(7

�4$_$)�-�L���-������7L=����2� �(� ����� �����(�-��� -X$c$&�2�����-�1���-7�U0��$&��
 ���(7 �����4$d���2h����2$&���4$YIf���Y
 �&�4� ���-��D`+��E
����&�(��+

�&�4�%���-�
�l�9	M� �^.N���p��� �-
#�c�p
#���-�5'��M��$)�2�A./�(���A�����M�)�p�%���-��D`+��E
����&�(��+Y$)�-��H��-�
�l�T	rP �EU� �� �����T$&�2�������

"��-�������FB����������g�*�-���5$&�-����$�
 ���2h����2$&�����M�����b�T	rP�UL�b�������g�*�-���5$&�-����$<�������9	T�V���M�������9	 P��(�c�����

$�
�"d�M"_
������-��
�$J��I<�(�9./�-���r�������E
����&�(��+_
���7c�������-��
�=�=��g�4�-
��&�(���o$&�-��H��-�5.5���4��� ���2h����(���2$!�9�-��'��-���L$

�����2���-���&�4
:�4$-U/�/���r���-=��(7c�4$/�-������7�=����2� �*�1�����!$)�2$�$3�(��� ���-7dIf����"a�����r�9	M� �l$&�-� /��(+������"%�UB% �EU

���
H��-�&�gI`7_�����N�4���-�L�)�*�)�*�2$9�#I^�����9=��&�(�����*=�
 �p$N�(�j
r���E
���$�
����)�*���CBL�����r�����(�-���5���E
#��$&"
�(�E$K�����M�&�4�%���-�

���j�����A$&�-��H��-�:UVP��*�����1�����A�&�4�%���-� �p$d$&�-�L� >��(� �����A���(�2
��EW �3=�
����E$ ��I5�(�_
����c�-������7�=����2�FBK'����������4$

�-������7�=��&�(���?���L�2$)�.- �_���L.5
����
���-=��4
:7 �Y
���� "
�(+����_'e�A�(�L���-�E���-=����2� 
���� ���-��$&�2� 'L70
�� 
����E
�� ���-�:B


������(�&�(����
:�N�*��I`����"c
��&�(���,�p$
$&�-���
���j=�����H�������
#�!�����_"��2$�$�
�+���.5
�$ ���)�*+#�*��
#���2�o'�7o�����A=��)�*�����(=�
:�

���j.5����" �����c�&�4�%���-�
.b
�$M�4$�$)���2�FU6�/���4$ �(��I`����"_
��)�*��� �l�-
:�g�(�2�V����� ��
��)( ��� �
� ����� ��	 �9�p$Y�-������7L=����2�
�(�j�����!$&�2$�$3�(��� ���-7 
#���c�(�����(�����2$r
d�&�("��2$&�E
�"d=CUJ�/��� �&�("��2$&�E
#"�= =�����H��2$b����
��5����� "��2$�$�
#+��r.5
�$

���2���-���&�(7 +��-���-��
����2�j
����\�4$9�����r
 > ���-=��4
27�W�UrGR������7�=��&�(��+A������
��������-���&�4�-
������N�(�o������$&�2$�$3�(���+���-7

=�����H��2$K����
��R�(�5.5
�$<+��-���-��
����2�c'�7_
 =�
����&7
=��L$�$)�2$�$3�(��+_�����T$&�2$�$3�(��� ���-7�UKP��(�����r���������9��Z����-=��5�����

���2h����2$&�&�(��+c=��&�(�����*=�
 �J
����A�����
$&�-��H��-���L����.?�����r$)�2$�$3�(���+���-7 �`�(�5�4$N���-H��-��$&�-������H��-�/����� ���-�&.J��� �

�(� �����r���(�2
�� �EB������4$N+���
��E
������-�2$K����� �p���-���&�(�&7A��I^�����
���g�*�-���2U

�b��� �(�����-+��&�(�&7 ��I
�����j"��2$�$�
�+��2$���Z�����
#��+��2� '��-�&./�-�-� =��)�*�����(=�
:�4$j�-
��?
:�4$&� 'e� +���
��E
������-�2�

��$3�(��+
�����M$&�2$�$3�(��� ���-7 ��=�
�$�$&�2�Y�*�A�����5�&�4� ���-�b
#���_�������E
:�(���2�Y�(�A�����T�����2���-�L�&�4
:�4$ ��U��/���4$/
�=�=����L
����

=�����H��p���2$
���-���2���)�*���6��I5'e�����o���-=��4
:76
����E
��%� $9
����,"��2$�$�
�+��_$&�����2
#" "�� ���g] �-
��)�*��� 
����E
��%� $-Ud �� �p$

%/A



AS TGS

CLIENT SERVER

1.
  R

eq
ue

st
 fo

r T
G

T

2.
 R

ec
ei

ve
 T

G
T

3. 
Req

ue
st 

tic
ke

t f
or

 se
rv

er

4. 
Rec

eiv
e s

erv
er 

tic
ke

t

5. Request service

Kerberos KDC

AS: Authentication Server

TGS: Ticket Granting Server

TGT: Ticket Granting Ticket
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-GJg68LB3��C/2DE6pJb/2<\9 z 35+46Mv
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